If y = e% cos3(x)sin?(x) find Z—Z.

Solution:
We'll use next rules of differentiation
NIfy=f(x)g(x) r(x)then

dy _df) dg(x) )
== g (0 () + F(0) @) + () g0

2) If y = F(p(x)) then

dy _dF(p) dp(x)
dx dp dx

Thus we have

d de®™ d 3 d(si 2
dx dx

cos3(x)sin?(x) + e™ I I

= ae® cos3(x)sin®(x) — 3e* cos?(x) sin(x) sin®(x) +
+2e% cos3(x)sin(x)cos(x) =

= e cos?(x)sin(x)(a - cos(x) sin(x) — 3sin?(x) + 2cos?(x)) =

= e cos?(x)sin(x) <% sin(2x) — 3(1 — cos?(x)) + Zcosz(x)> =

= e cos?(x)sin(x) (—3 + %sin(Zx) + SCOSZ(X)>

Answer:

d
% = e cos?(x)sin(x) (—3 + %sin(Zx) + 5C052(x)>
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